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Predict the products of the following reactions.

CHO
CHO
/©/ No2 NO, B
F K,CO MeONa__ O NO 'V'eSH
2L03 MeO C 2
HO (0] K CO
\©\ \©\ OCF3 OCF4 MeO 2003
OMe OM O OMe
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rxn from Synthesis 1991, 63 rxn from JOC 2007, 72, 6905 rxn from J. Med. Chem. 1980, 23, 717
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98% yield 92% yield 95% yield
rxn from OPRD 2001 5 28 rxn from Tet 1989 45 1293 rxn from JOC 2003 68 10195
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75% yield 91% yield 70% yield
rxn from OPRD 2000 4 488 rxn from J. Med. Chem. 1995, 38, 2546 rxn from OPRD 2004 8 62
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64% yield 97% yield 90% yield

rxn from Org Syn 1922 2 47 rxn from OL 2008 10 3961 rxn from Eur JOC 2019 26 4248
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